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e Resistors regulate, impede or set the flow of current through a particular path or
impose a voltage reduction in an electric circuit as a result of this current flow.
Resistance is denoted by R and is measured in Ohms (denoted by €2).

e The capacitor is a component that has the ability or “capacity” to store energy
in the form of an electric charge like a small battery. Capacitance is denoted by
C and is measured in Farads (denoted by F) or micro? Farads (denoted by uF).

e An inductor is a coil of wire that induces a magnetic field within itself or within
a central core as a direct result of current passing through the coil. Inductance®

is denoted by L and is measured in Henries. (denoted by H) or in micro Henries
(denoted by uH)
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Consider the ODE y’ = f(y) where the graph of f(y) is displayed below ( flipped

along the diagonal and aligned with the direction field):

inahakaih T B B B U U WA WS AN AR ot alt ol Bt

=N\ s
=N PN\ /s s
=N NN\ s s s
=N PN /s
e N I R R R R g
e R R R R R g
e S R R R RN R R g
NI\ /s
e R R R RN W g
e A R R R R RN W g
=N PN\ /s
NN\ s s s
N\ AN /s
e I R R R R g
e S R R R R R R g
e R R R R R g
=N\ s
e A R R R R RN g
e A R R R RN R P g

N Y AN\ rrm s s~
@ L 2

Question: Where are the equilibrium points? Which ones are stable and which

ones are unstable?
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